
 Cannotcycle part 2
TheCannotCycleIntegralF c Isotherm D T2

T Isotherm ladieset 881 Sw
B a g't

Heian
put

workdone
by system

Tds fopdd
We can show that
fotds ftdstftdstfetdstfrtds

TDSI.at O TaASI to

fotds 81 Josw T Asta Tasse
Define DS É S SA IS

IS E SD Sc DS

Tds 881 PSW IDS T IS
Ta Ti DS 89in Sfout

ay
By definition as SET c 187 D T2

B Iota g
88W Ta TIF As

We malt by DS in the num
and denom of parenthesis
Sw Ta THEISS As

Ta Stingfout DS

Define E TEI Stingffout Ign Carnot
Efficiency

Noting that W GgW Ta Ti DS

By definition ELI


